## IN-0006176



08/03/2023 12:00 PM | Install Ceremony 08/03/2023 04:00 PM | Install Flat Ceiling in Ballroom Bar

08/04/2023 07:00 AM | Install Ceiling and Draping

08/05/2023 08:00 AM | Continued Install 08/05/2023 11:30 PM | Place DJ Booth on Stage

08/06/2023 07:00 AM | Strike Ballroom & Cocktails

P0:

Shipping Address: Resort at Pelican Hill 22701 Pelican Hill Road South, Newport Coast, CA 92657 International Event Company 9744 Wilshire Boulevard, Suite 301 Beverly Hills, CA 90212

Invoice Date:

Due Date: Upon Receipt

Salesperson: Milana Ayvazova

Description		Qtty	Price		Total
Additions					
	Black Out Draping	1	\$900.00	Т	\$900.0
	Coffee Tables - Siena - Wood Sphere Base W/ Glass Top 48"Diam x 18"H	3	\$275.00	Т	\$825.0
	Wall Mirrors - Oversized Carved Wood Wall Mirror 9'W x 8'H (painted gold),	1	\$800.00	T	\$800.0
	L-Brackets and sand bags,				
Control and Contro	Make sure mirror is painted and ready on 8/1 for place card seating 9'W x 8'H - Custom Frame Color Upon Request				
	10' x 10' Off White Gauze With Backing	2	\$100.00	Т	\$200.0
	1 for back of mirror, 1 for backdrop for neon sign, pipe and base,				
	*short and long pipes*				
			Total Additi	ons	\$2,725.00
Ceremony					
	Pullbacks For Gazebo Legs - 20'H	6	\$500.00	Т	\$3,000.00
	champagne chiffon center, thin white gold borders, no backing, off white tassels				
	Chandeliers - Avignon - Crystals - Large	4	\$300.00	Т	\$1,200.00
	off white rouching, windy weather - add fishing wire				
	18"Diam x 34"H - 18lb				
	Chandeliers - Avignon - Crystals - Medium	5	\$250.00	Т	\$1,250.00
	off white rouching, windy weather - add fishing wire				
	16"Diam x 32"H - 15lb				
	Chandeliers - Avignon - Crystals - Small	6	\$250.00	T	\$1,500.00
*					-
	off white rouching, windy weather - add fishing wire				

Description		Qtty	Price		Total
	Props - Carts - Metal Flower Display Cart  Metal Flower Display Cart - Ivory Linen w/ Valance  painted arcade white high gloss, ivory linen valance,  88" x 58" x 100"	1	\$900.00	T	\$900.00
	Dining Chairs - Aspen - White Wash W/ Oatmeal Linen 18"X 21" X 32"H	168	\$22.00	Т	\$3,696.00
			Total Ceremo	ony	\$11,546.00
Cocktail Hour					
	Garden Gazebos & Cabanas - 12' X 12' Cabana Frame - Wood white wash finish, off white gauze ceiling only, no pullbacks 10' x 10' x 8'H	3	\$2,200.00	Т	\$6,600.00
	Sofas - Bali - Bamboo White Wash include existing pillows 73"W x 30"D x32â\text{\text{\text{\$\text{\$M\$}}}} H	6	\$450.00	Т	\$2,700.00
	Club & Lounge Chairs - Bora Bora - Accent Chair 26"W x 27"L x 33â\\ H	6	\$150.00	Т	\$900.00
	Accent Table - Bora Bora - Gold Twirl 21"W x 14"L x 24â\\ \Barrier H	4	\$150.00	Т	\$600.00
DO	Accent Table - Bora Bora - White Wash	4	\$150.00	T	\$600.00
	Bars - Carmel - Curved 6' no gold footrest, finished on one side of each bar, 2 placed together 6'W x 30"L X 42"H	4	\$700.00	T	\$2,800.00
	Stand Up Tables - Bali - Round Wood Cane Back 3' X 42"H	7	\$300.00	Т	\$2,100.00
	Small Dining Tables - Bali - Round Wood Cane Back 3' X 30 3/4"H	6	\$250.00	T	\$1,500.00
A	Dining Chairs - Bali - Wood & Cane Back 17 1/2â\ k 16 1/2â\ k 35â\ H	43	\$27.00	T	\$1,161.00
	Accent Table - Fiji - Round Small	4	\$80.00	T	\$320.00

Description		Qtty	Qtty Price Total Cocktail Hour		Total
					\$19,281.00
Reception					
	Custom Truss Covers - Butter Suede With Velcro	1	\$12,000.00	Т	\$12,000.00
	Custom Full Ceiling Full ceiling + rotunda in different shades & heights,	1	\$52,000.00	Т	\$52,000.00
	Custom Perimeter Draping - Flat Butter Suede - 500' x 12'H Hung on truss and some pipe and base options - 12'H, cut around	1	\$21,000.00	Т	\$21,000.00
	doors, need wood & tools on site to frame,				
123	Dining Table - St Tropez - Faux White Marble 8' custom wrapped leather top with handpainted trim, 8'W x 48"L x 30"H	7	\$1,500.00	T	\$10,500.00
	Dining Table - Las Vegas - Colored Top & Base Square 48"  custom painted marble base, custom wrapped leather table with hand	1	\$1,200.00	Т	\$1,200.00
	painted borders, 48â\  \  \  \  \  \  \  \  \  \  \  \  \  \				
	Dining Table - Las Vegas - Colored Top & Base 6'x40" custom painted marble base, custom wrapped leather table with hand painted borders, 6'W x 40"L x 30"H - Custom Top & Base Color Upon Request	1	\$1,700.00	Т	\$1,700.00
10 AU 10 AU	Dj Booths - New York  Dj Booth - New York - Faux Marble	1	\$550.00	Т	\$550.00
	marble finish 30"W x 4'L x 42"H - Color Upon Request				
			Total Reception		\$98,950.00
Tunnel Entrance					
	Custom Flat Ceiling - 14' x 4'D	1	\$1,800.00	Т	\$1,800.00
	Custom Tunnel Drape - Varying Pullbacks in butter suede, double sided, returns included, tassels,	1	\$4,800.00	T	\$4,800.00
			Total Tunnel Entrance		\$6,600.00
Bar Area					
	Custom Ceiling For Bar Area - 10' x 16' butter suede	1	\$5,000.00	Т	\$5,000.00
	Custom Ceiling For Entrance & Over Nook - 20' x 8'D	1	\$3,800.00	Т	\$3,800.00
	Draping for Sides of Bar - White Sheer Chiffon With Backing 12'W x 13'H, ivory tassels - 8 pieces	2	\$220.00	Т	\$440.00
	Valance In Stock - Off White 2-10'W	1	\$0.00	Т	\$0.00

Description		Qtty	Price	Total
	Bars - Chicago - Wood 12'	1	\$1,700.00 T	\$1,700.00
	painted black - satin finish, 2 wood panels attached to center with wall paper,			
	25"W x 12'L x 42"H - Color Change Upon Request			
			Total Bar Area	\$10,940.00
Services				
	Install Day 1	6	\$650.00	\$3,900.00
	Install Day 2	16	\$650.00	\$10,400.00
	Install Day 3	12	\$650.00	\$7,800.00
	Labor For DJ Placement	2	\$200.00	\$400.00
	Strike	12	\$650.00	\$7,800.00
	Presentation Fee:	1	\$2,000.00	\$2,000.00
	Hotel Rooms For Crew - 3 nights each room Final price TBD - pending time of booking	6	\$1,200.00	\$7,200.00
	Per Diems	12	\$296.00	\$3,552.00
	Truck + Gas Surcharge	7	\$580.00	\$4,060.00
	Misc: Supplies, Materials, Packing, Etc.	1	\$6,300.00	\$6,300.00
	Flameproof Certificate	1	\$3,000.00	\$3,000.00
	Manager Fees: revisions, manager on site, production Provided by client - 3 nights	1	\$2,500.00	\$2,500.00
	Hotel Room For Designer At Hotel Provided by client - 2 nights	1	\$0.00	\$0.00
Please make ch	ecks payable to Revelry, Inc.		Total Products:	\$150,042.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total L	abor/Services/Misc:	\$58,912.00
			Wear & Tear (0%):	\$0.00
•			Packing (0%):	\$0.00
Notes			Taxes:	\$14,090.12
			Discounts:	(\$1,725.00)
			Total:	\$221,319.12
			Payments:	(\$221,319.12)
			Balance:	\$-0.01